Case 1.
We take a simple serial system to study the program of Benavoli.
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		Fig 1. Serial system 		                      Fig 2. VBS
Fig 1 shows the structure of a serial system made up of two components. Fig 2 is its VBS model.
In this example we can see there are 3 binary variables, each one has its probability of happening. The probability of system 1 to active is depending on the probability of CompA and CompB. 
Let’s say, for this example we have the probability of CompA to occur is 0.7 and the probability of CompB to occur is 0.8. The system will active if the CompA or CompB has occurred. Since both CompA and CompB are binary, so there are only two possibility, 1 if they occur and 2 otherwise. To make it simple we put it in the Table 1.
	System
	CompA
	CompB

	1
	1
	1

	1
	1
	2

	1
	2
	1

	2
	2
	2


Table 1. Possible combinations
In the program we first run Input_BeliefGUI.m. We will see a window like in the Fig 3. We can choose whether we want to input manually or use the input that we already have before. If we want to input manually than we first define how many beliefs we have (in this case we have 3), and then GO.
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Fig 3. Initial Window
We can see the explanation of usage of the buttons and listboxes from the Fig 4 in the Table 2.
	Number
	Explanation

	1
	List of all nodes

	2
	List of all the possible children, the node itself is its own child

	3
	List of children

	4
	Buttons to select or remove a child

	5
	Button to fix chosen children

	6
	Button to add a focal set, one node can have several focal sets

	7
	Button and textbox to set the mass function of a focal set

	8
	List of all focal sets

	9
	List of all possible combinations 

	10
	List of all chosen combinations

	11
	Buttons to remove or chose a combination
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Fig 4. Input Window
Fig 4. shows how we build the node 1 since it is dependent on the node 2 and 3. We chose the combinations like the one explained in the table 1 and gave the full value of mass function because we are sure it is all the possible combinations. Fig 5. and Fig 6. show how we construct the node 2. It has 2 focal sets, the first one has a mass function of 0.7 symbolize the probability of true. The other focal set has the probability of false, 0.3. We did the same for the node 3 and when we finished we pressed the button Calculate. The result can be seen in the Fig 7., Fig 8. and Fig 9.
The generate input will be3
1 2 3
1
1  1 1; 1 2  1 ; 1 1  2 ; 2 2  2
1
2
2
1
0.7
2
0.3
3
2
1
0.8
2
0.2
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Fig 5. Leaf Node[image: ]
Fig 6. Leaf Node (2)
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	Fig 7. Binary joint three
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Fig 8. Belief and plausibility
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Fig 9. Pignistic probability











	

Case 2.
[image: ]
Fig 10. The VBS model



The generate input:19
1 2 3 4 5
1
1  1  1  1  1;1  2  1  1  1;1  1  2  1  1;1  2  2  1  1;1  1  1  2  1;1  2  1  2  1;1  1  2  2  1;1  2  2  2  1;1  1  1  1  2;1  2  1  1  2;1  1  2  1  2;1  2  2  1  2;1  1  1  2  2;1  2  1  2  2;1  1  2  2  2;2  2  2  2  2;
1
2 6
1
1  1;2  2;
1
3 7
1
1  1;2  2;
1
4 8 9 10
1
1  1  1  1;2  2  1  1;2  1  2  1;2  2  2  1;2  1  1  2;2  2  1  2;2  1  2  2;2  2  2  2;
1
5 11 12
1
1  1  1;2  2  1;2  1  2;2  2  2;
1
6
2
1;
0.42691
2;
0.57309
7
2
1;
0.36984
2;
0.63016
8
2
1;
0.40521
2;
0.59479
9 13
1
1  1;2  2;
1
10 14 15
1
1  1  1;2  2  1;2  1  2;2  2  2;
1
11 16 17 18



























1
1  1  1  1;1  2  1  1;1  1  2  1;1  2  2  1;1  1  1  2;1  2  1  2;1  1  2  2;2  2  2  2;
1
12 19
1
1  1;2  2;
1
13
2
1;
0.14618
2;
0.85382
14
2
1;
0.34398
2;
0.65602
15
2
1;
0.36983
2;
0.63017
16
2
1;
0.42779
2;
0.57221
17
2
1;
0.38149
2;
0.61851
18
2
1;
0.34035
2;
0.65965
19
2
1;
0.17933
2;
0.82067

The result can be seen in the Fig 11, Fig 12 and Fig 13.
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Fig 11. Binary joint three
[image: ]
Fig 12. Belief and plausibility
[image: ]
Fig 13. Pignistic probability
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